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Understanding integers

Integer number line

%« —d—F—F— " ++H++—+ 1+ ++++—%++—++—+—+—++++—+7»
|l -12-71-10-948 -7 -5 151443 .21 01 2 3 45 6 78 9 101 12 |

Integers = whole numbers + the negativelof the whole numbers

2.

Werite a negative or positive number to represent each of the following situations.

The rope is 17 cm long.

.He.jumpéd éfeeté aé high :as his:friénds.

.Luc.:y Has. Ioét 4 kQ of. wéi.gﬁt t:his.su.mrﬁer.

:Thére.is é 50 d.ollrl:xr If.:::ss: in :thié aécdunf.

.Pet.er is 7 feét as fall :as .his.dad.

:Thére.is é 9.0%. incﬁreése: in :yieild df éroﬁs fhié ye.ar.:
.Mr..Ja.me.s hés iosf 5 buf of hié 56 féwlé in. hié péulfry.

Due to a 25% decrease in taxes of all food products, the price of a bag of rice has |
reduced from $20 to $15.
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Integers = whole numbers + the negativelof the whole numbers

Write a negative or positive number to represent each of the fdllowing situations.

1.  Theropeis17 cmlong..
The integer is 17.
2. He jumped 2 feets as high as his friends.
The integer.is 2. |
3. lLucy has lost 4 kg of weight this summer.
The integer is -4 because there is aloss. |
4. Thereis a 50 dollar loss in this account.
The integer is -50 because there is a loss.
5. Peter is 7 feet as tall as his dad.
The integer is 7.
6. Therelis a 90% increase in yield of crops this year.
The integer is 90.
7. Mr. James has lost 5 out of his 50 fowls in his paultry.
The integers are -5 and 50.
8. Due to a 25% decrease in taxes of all food products, the price of a bag of rice has |

reduced from $20 to $15.
The integers are -25, 20 and 15. |
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